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And Shain V’Regel should not be, etc. — %912 B3 @ NN N9

OVERVIEW

The X713 asks that we should derive through a 1"p from 77 (which pays only a 1"1
P17 nMwn2) that "W should also only pay a P17 mwa2 1"1. Our MdOIN discusses
this question and some issues associated with this question

ndOIN asks:
- 19AN YW 1999 N9 AT YW 1909 99N XD INH ON)

And if you will say; but the X723 just said previously, this one’s money, but not
the other’s money, so how can 1 pay a (pr°37 nw93) 1"'1?

N1B0IN answers:
- 1191319 DYNWNY P13 O8N KIN 19D DYNY PRT 1Y Y

And one can say; that we cannot exclude from 8> (every type of 1"n, but

rather) only a 1'"'1n which pays 19127, for that is the meaning of the 105 -
- 290N Y RYY 190 P13 98N Nt HY 19097

That only this one’s (777) money is a 91a% 1''17, but no other 7 m pays a o1 1" -
- 195990 Y19 DHNYWN NN PRI SN PN IENA NYN ON IND)

However here if the 1"Ww damaged in the p1377 231 he would pay 7799w 32, and

therefore the exclusion of 21 71 5w 1902 nX WM would not apply -
= 1997 1135199 OHNYN MN 02290 MY 7)) W 290N MHN ONX DyH HaN

However previously when the X713 used the exclusion of 171 5w 1902, if we would
have held 7' liable even in the 2''719 (through a 171 1"?), 7" would have also
paid 12132 just like 39p, therefore the exclusion of 1905 would be applicable to 1"w.

nooIn asks:
=917 N2N 999) 271 9NN ON)

And if you will say; how can he derive here (by 7"7) from 399 that 1" should

' The X3 just explained that 9" cannot pay a (1"712) 1"n since the 7N writes concerning 177 (in [2°bown] Maw
2,%2) that 1905 nX WM, so we derive that we only divide the payment of 177 (to pay a 1"1), but we do not divide the
payment of the other o°p>t» (such as "W). How could the X3 ask that 7" should pay only a pr217 nwn21"n?
%397 — from it body - means that the victim cannot collect more than the damaging animal is worth, no matter how
big a loss he suffered. As opposed to 7%v77 12 which means the victim can collect his loss from the assets of the
owner no matter how little the damaging animal is worth.
> We derive from 1903 nX 1¥m, which is written by 17 (who is 10wn 02wn) that there is no other case like 177 which is
2%wn a 1911 1"7, but the P105 did not necessarily mean there is no other 1"n even 7”577 2.
* We cannot derive from 1" (through the same 1"p) that 1"y should also only pay 9, since it clearly states by
P1°37 %2 1" (in 7,20 [D°wown] Mnw) that o7w° 11 20 M WITW 20°N; he pays 775V A,
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only pay a 1"n, for we can refute this 1"p, by saying, you know —
= 9091 11 OYNYN PN 19W P O8N RIN DHWN KD PIIIN 98N IPPORY NIN 17 199D NN

Why this is by 399 that it pays a P17 mwn2 11 for it is justified that even =32

»1177 he only pays a 1"'17 since 177 cannot collect from the 7°°%¥; can you say that by
7" which collects 719977 12 and therefore is not comparable to 177 and should pay a w"!

n90IN answers:
- PN NIN OHYN PRI (3,3 »re9) RO 297 N0¥N 119 OINWNY NI MHNIY 917 U

And one can say; this is not a refutation, for % will disprove the refutation,
since it too collects 79w 3 according to 2''1 and nevertheless it only pays a

1''1m, similarly 2", even though it collects 7711 11, nevertheless we can derive from 177 that it
should only pay a 7™%¥7 12 1" (like mMnY).

nooIn asks:
= PR8N PN 98N DI IV ON 9NN ON)

And if you will say; if 2" pays only a 1"'17 in the P15277 9217 (as the 1"p teaches) -
- N9%9 D¥57 1IN U XNWAT INR SY 1905 KXY AT YW 19D TPI0YIN INNDN

Why is it necessary for the 770 to teach us the exclusion of 1992 K91 777 YR 10O
2NN KYw, since the previous 1"'p is nonexistent?!

N1B0IN answers:
- PIYYUNA P37 NINT 1IN P 13593 191 19D INY INT 1YY W

And one can say; if not for the exclusion of 1282, we would have abandoned
this 1'"'? which is lenient regarding payment (requiring only a 1"n1 for pr37 1302 1" W) -

:9299WN2 70nN1nT *9r951 490 9P 13573y MM
And we would have utilized the previous Y'pP which is strict regarding
payment (obligating 2" to pay a 1" even in the 7"717).

SUMMARY
The exclusion of 1905 applies only to payments of 1913 but not 7%v77 1. We can

> If we follow the current 1"p that 7" W pays only a 1"17 in 117 WA, so there is no more X7 in 1" W over 7P (they
both pay a pr°17 mwn1 1"n). We can no longer make the 1"p (on the previous '2 7y) that 7" W should pay a 7"772 1"n,
for since 2" is not more MM than 777 there is no 1"'p. There is no reason for the 7710 to write 190> (which excludes
"W from paying a 7"772 1"1) since we would have no cause to think that °2"w should pay a 7"772 1"n. See
‘Thinking it over’.
% Had the 7790 not written 1902 (excluding 7" from paying anything in the 1";17), we would have used the previous
1" (on the "2 7nY) to teach us that 71" pays a 1"772 1"n. However now that we know from 1903 that 2" does not
pay anything in the 71"777 (not even a 1"17) we can utilize this new 1"p that it should only pay a 1"1 even P17 Mwn2.
7 See X177 X,3 'O,
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derive from M 11X that even 72997 11 there can be payment of only a 1"1. If there is
a choice between two 1"? we would utilize the one which is stricter regarding
payments.

THINKING IT OVER

mooIn asks that if we make a 1"'p from 77 that 2" W pays only a 117 Mw02 "1 so
there 1s no X of "W over 172 (since both pay a P17 mwa2 1"n) why is the
exclusion of 1903 necessary.® However it seems that even if 2" pays a nw1a1"n
P17, we can still make a 1"p thus; if 799 which pays a P mwn2 wwn 1"n
nevertheless pays a 1" in 9"717, so 1"W who pays a prin mwna 7590 11 1"n, should
certainly pay a 1"7172 1"n. Therefore we still need the exclusion of 1903 to refute this
1"p1°

8 See footnote # 5.
? See 7™w 0"n and w"wA.
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